Plan for today:
Finish § 1.6
Start | § 2.1

Learning Goals:

1.

Be able to solve reducible 2nd order equations. Those are among the very few cases of possibly
non-linear 2nd order equations we will see in this class. Keep them in mind because they appear on
the finals.

Be able to set up and solve a differential equation describing the evolution of a population

Reminders-announcements

1.
2.

1 hour left to submit Quiz 1!
Homework hint: One of the homework problems asks you to find the value of a variable
numetically. This means| that you need to use a computer algebra system to find the value of the

variable, do not try to solve for it analytically.
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